Source feed horns
They are all pyramidal (Aperture A*B with apex to aperture length L)
Band 3

A= 23.0 mm

B= 18.0 mm

L= 44.0 mm

I calculate at 94 GHz

Elevation n =154

Azimuth n = 93

These are a fit to the calculated power patterns (ignoring sidelobe in elevation)

I believe that NSI program wants power pattern n’s.

Their equation is CosN(az) = -0.5/{Log10[Cos(Az angle-10)]} 

Which I believe is CosN(az) = -10 dB/ (20*log10[Cos(Az angle at -10dB)]}
Band 6

A= 8.1 mm

B= 6.0 mm

L= 16.0 mm

I calculate at 239 GHz

Elevation n =124

Azimuth n = 62

Band 7

A= 7.0 mm

B= 5.0 mm

L= 10.0 mm

I calculate at 277 GHz

Elevation n =118

Azimuth n = 62

Band 9

A= 3.5 mm

B= 2.5 mm

L= 5.0 mm

I calculate at 661 GHz

Elevation n =138

Azimuth n = 83.4

